
Prova scritta di METODI MATEMATICI della FISICA

INTRODUZIONE

17 marzo 2008

Risultati COMPITO 1

1. β = (2k + 1)π, k ∈ ZZ;

I = (−1)k+1
π

2β

2. a ≤ 1; per a = 1:

z → 1:

u1(z) ∼ (z − 1)+i

u2(z) ∼ (z − 1)−i

z → 0:

u1(z) ∼ z

u2(z) ∼ z ln z
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Risultati COMPITO 2

1. β = (2k + 1)π/2, k ∈ ZZ;

I = −π

2
sin |β|

2. a ≤ 1; per a = 1:

z → 0:

u1(z) ∼ z+i

u2(z) ∼ z−i

z → −1:

u1(z) ∼ (z + 1)

u2(z) ∼ (z + 1) ln(z + 1)
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Risultati COMPITO 3

1. β = (2k + 1)π/2, k ∈ ZZ;

I = (−1)k+1
π

2β

2. a ≤ 1; per a = 1:

z → 2:

u1(z) ∼ (z − 2)+i

u2(z) ∼ (z − 2)−i

z → 1:

u1(z) ∼ z − 1

u2(z) ∼ (z − 1) ln(z − 1)

3.

P0(x) = 1

P1(x) = 2
√

3x

P2(x) = 6
√
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1
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Risultati COMPITO 4

1. β = (2k + 1)π, k ∈ ZZ;

I = −π sin(|β|/2)

2. a ≤ 1; per a = 1:

z → −1:

u1(z) ∼ (z + 1)+i

u2(z) ∼ (z + 1)−i

z → −2:

u1(z) ∼ z + 2

u2(z) ∼ (z + 2) ln(z + 2)

3.

P0(x) = 1

P1(x) = 2
√

3x

P2(x) = 6
√
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